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= 5,000
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202 (44l 1,760 1,600 160
01 SLHOIYI 1,760 1,600 160
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OHMAHRF=A 1,760,000 1,760
307 21201 A 41,000 32,800 8,200
11T AR SXAIEE =X 41,000 32,800 8,200
O&JE ZOHA=H &4 4,000,000 4,000
OFOHUHAL A& Xt& X 7,000,000& 7,000
OEZZ0oS 28t 25 %
30,000,000 30,000
ZOHQ MRSHH 29 209,000 110,077 98,923
< 20,900
Al 188,100
307 21201 A 209,000 110,077 98,923
< 20,900
Al 188,100
10 AL SXAIEEE2ZHI 2 209,000 0 209,000
OZle MREEHH 22 209,000, 000& 209,000
< 20,900
Al 188,100
T =SRAIEL AT (48) 13,000 14,368 A 1,368
< 1,950
Al 11,050
307 gl2tol & 13,000 14,368 A 1,368
< 1,950
Al 11,050
11 ALS S XAEE = 13,000 14,368 A 1,368
ZOHAISXAIE LATKE(4F)
13,000, 000& 13,000
< 1,950
Al 11,050
SSZMHANEHESTNAEHZ2 S 95,000 95,000 0
< 38,000
Al 57,000
307 21201 A 95,000 95,000 0
< 38,000
Al 57,000
10 M2 SXNANELEHE2ZHE 80,000 0 80,000
SSZMHL NSHMBINALAH2 I
80,000,000 80,000
< 32,000
Al 48,000
11T ALSI S XA E = 15,000 95,000 280,000
OZSHMY NHSMEXNJHIH2S XA
15,000, 000& 15,000
< 6,000
Al 9,000
ANZEOHel HOAIL J=XIJddH 29 65,000 55,000 10,000
= 6,500




AN ALEI =X

g Foje sxsd

Sl MOjI=R LUK R CEEEED
= _ — d =
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Al 58,500
307 21201 A 65,000 55,000 10,000
< 6,500
Al 58,500
10 ALSISXAIEEE2EHEX 55,700 0 55,700
OANZZOHQ HAAL JIsXdHEH 2
55,700,000 55,700
< 5,570
Al 50,130
11T M3 SRASEEX 9,300 55,000 A 45,700
OANZZOQ HAAL JI=XdAHEH 2
9,300,000 9,300
< 930
Al 8,370
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< 10,000
Al 15,000
307 glz2+0l & 25,000 21,000 4,000
< 10,000
Al 15,000
11T MISXASEX 25,000 21,000 4,000
O=sZMe k& 25,000,000& 25,000
< 10,000
Al 15,000
O Xt 15,000 73,000 A58,000
402 RI2HXt20l ™ 15,000 73,000 A 58,000
01 22t t= AP E X 15,000 73,000 58,000
OFMHAH & 2 15,000, 000& 15,000
FHEsHAE 2 14,000 12,000 2,000
307 glz2tol & 14,000 12,000 2,000
11 ALS S XALEE = 14,000 12,000 2,000
OFe E5&AE 29 14,000, 000& 14,000
Zoerel & @At 10,000 8,000 2,000
307 glz2tol & 10,000 8,000 2,000
11T MISXASEX 10,000 8,000 2,000
OZOHRe & A 10,000,000 10,000
ZOHOtsS JIEXNF RL24EMHA TR 7,000 7,000 0
= 4,900
< 315
Al 1,785
307 21201 A 7,000 7,000 0
= 4,900
< 315
Al 1,785
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47,960
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40,766

= MW
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6,600
Al 6,600
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= M W
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 20,500 16,182 4,318
= 10,250
Al 10,250
11T MISXASEX 20,500 16,182 4,318
OsAHLoS3dMEZ0I(2Y) 20,500,000 20,500
= 10,250
Al 10,250
SHLZSME JtH0&GtS A 10,000 80,000 270,000
< 1,000
Al 9,000
307 21201 A 10,000 80,000 A70,000
< 1,000
Al 9,000
11T M3 SXASEEX 10,000 80,000 A70,000
OSHCOTSME IHUI01&5H2A
10,000,000 10,000
= 1,000
Al 9,000
CURIANE JISEH 14,250 0 14,250
= 7,125
Al 7,125
402 RI2EXt20l ™ 14,250 0 14,250
= 7,125
Al 7,125
01 A TtEAEEX 14,250 0 14,250
OLRAANE JIs2Z 14,250,000 14,250
= 7,125
Al 7,125
Lo=X LA 6,679,086 5,375,897 1,303, 189
< 1,190,798
Al 5,488,288
IEMERZEID FSHBY XY 217,500 217,500 0
< 43,500
Al 174,000
301 LAz 217,500 217,500 0
< 43,500
Al 174,000
01 MI2ZHE 6= 217,500 217,500 0
OJI=Maga Lol astHey X&
217,500,000& 217,500
< 43,500
Al 174,000
LORQAANLERY 105,100 81,682 23,418
< 31,530
Al 73,570
307 21201 A 105,100 81,682 23,418

- 22 -




SN ALSI S X
Mo Lo=XEX
Sl Lol=X YRR CEEEED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 31,530
Al 73,570
11T MISRASEX 105,100 81,682 23,418
OLRAANER2Y 105, 100, 000& 105,100
< 31,530
Al 73,570
NI 2ALQME AL XA 9,000 9,000 0
< 1,800
Al 7,200
307 21201 A 9,000 9,000 0
< 1,800
Al 7,200
10 AL SXAIEEE2EHEX 9,000 0 9,000
OM2F - MEAIL XA 9,000,000 9,000
< 1,800
Al 7,200
MASTHIOLC QAL A S 153,000 144,000 9,000
< 15,300
Al 137,700
307 glz2+ol & 153,000 144,000 9,000
< 15,300
Al 137,700
11T MIEXASEX 153,000 144,000 9,000
OMAS THItE=Ql AAHE 153,000, 000 153,000
< 15,300
Al 137,700
Lol et ALY 6,400 6,600 A 200
< 1,280
Al 5,120
307 21201 A 6,400 6,600 A 200
< 1,280
Al 5,120
11T M3 SXAISEEX 6,400 6,600 2200
Okl el0rE A Y 6,400,000 6,400
< 1,280
Al 5,120
COIEAL & EHH2Y 734,580 575,666 158,914
201 ¢er24| 1,300 700 600
01 At 22/l 1,300 700 600
OLQAHAIY 22 & 29| 1,300, 000& 1,300
202 044l 1,760 1,600 160
01 = LH &4 1l 1,760 1,600 160
Oe=sI & TZAERFA 1,760,000 1,760
301 et a3z 697,050 552,000 145,050
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01 Al E& A 46 2 696,000 552,000 144,000
O&LELolxE 20,000& x2, 900 ~12& 696,000
11 JIEtE A= 1,050 0 1,050
ORYHAZ Y Alak A2 & 3J0 A *350,000& 1,050
307 2izto| A 34,470 21,366 13,104
11T AISIEXAIEEX 34,470 21,366 13,104
Odem2 )|k X 22,930,000& 22,930
Obles E6t A EESAHSAIY 5,000,000& 5,000
OHYAHAIN MER=E2 60,000 1094 A~ 6,540
23X A2 45,920 35,900 10,020
201 2Et24Hy| 5,360 5,400 AN 40
01 AP 22| d| 2,000 2,400 A 400
O2£2X 2228 2 2,000,000& 2,000
02 2% H| 3,360 3,000 360
OZ243QX SN2 (ME HxE)
3,360,000 3,360
301 et A= 560 500 60
11 JIEtE A= 560 500 60
O2&£2 X2 XX B4 560
A BEA(RPHER AEIX AUH S
) 7,000 #4353 x20H 560
401 AlEHIZ £ 0HY| 40,000 30,000 10,000
01 Al&H| 40,000 30,000 10,000
OB&ERXN A58+ S 10,000, 000& *4JH A~ 40,000
LOIOIZEANESAIAN E222E 26,400 26,400 0
= 2,640
Al 23,760
307 QI2t0| ™ 26,400 26,400 0
= 2,640
Al 23,760
11T A EXAIEEX 26,400 26,400 0
OLQIOISANESAA EL22E
26,400,000 26,400
= 2,640
Al 23,760
Lo=sxiasy 585,000 585,000 0
& 35,000
Al 550,000
307 QI2t0| ™ 585,000 585,000 0
& 35,000
Al 550,000
10 A SXNANEEHESIGHEX 585,000 0 585,000
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OokolsX& 22| 585,000,000& 585,000
[ 35,000
Al 550,000
HASEOI? ALEE S X 45,000 0 45,000
= 4,500
Al 40,500
307 QI2t0| ™ 45,000 0 45,000
& 4,500
Al 40,500
11 AMISXAEEXR 45,000 0 45,000
OMASLEOIR AABEZ K&
45,000,000 45,000
T 4,500
Al 40,500
Colgdxelgds (Aol 67,300 67,300 0
& 6,730
Al 60,570
307 QI2t0| ™ 67,300 67,300 0
& 6,730
Al 60,570
AR EXAEEX 67,300 67,300 0
Aoy g 29 67,300,000& 67,300
& 6,730
Al 60,570
COITtA I EHEZE 30,000 30,000 0
< 3,000
Al 27,000
307 212t01 & 30,000 30,000 0
T 3,000
Al 27,000
11 AMIASAAEEX 30,000 30,000 0
Ol AN 30,000,000& 30,000
& 3,000
Al 27,000
AIY AIE20 2,949,595 1,898,583 1,051,012
& 884,879
Al 2,064,716
307 212t01 & 2,949,595 1,898,583 1,051,012
& 884,879
Al 2,064,716
11 A SAAEE X 2,949,595 1,898,583 1,051,012
O&EINQY AIEZ20 2,949,595,000& 2,949,595
T 884,879
Al 2,064,716
AIQLYMIIZ A 1,606,391 1,645,266 AN 38,875
= 160,639
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Al 1,445,752
307 21201 A 1,606,391 1,645,266 A 38,875
< 160,639
Al 1,445,752
11T MISAASER 1,606,391 1,645,266 A 38,875
oI MitsW™ 1,606,391,000& 1,606,391
< 160,639
Al 1,445,752
MIBH &AL 6,000 6,000 0
307 21201 A 6,000 6,000 0
11T AL SXAEE = 6,000 6,000 0
O MItH & At 6,000,000& 6,000
Lolol & HALKIE 10,000 7,000 3,000
307 glz2tol & 10,000 7,000 3,000
11T M SXALSE EX 10,000 7,000 3,000
Okolod A2 10,000, 000& 10,000
OB 0lE SEAXA 40,000 40,000 0
201 L2l 40,000 40,000 0
03 &Ar2 I 40,000 40,000 0
O0iB0le HAX A 40,000,000 40,000
Usteolsl X (AXE 29) 18,900 0 18,900
307 21201 A 18,900 0 18,900
02 QIAFAAFEX 4,500 0 4,500
Otist=2lal AIXE ALSXI& 4,500,000 4,500
03 BIAHMNHE2IHIEL 14,400 0 14,400
ouset=2ls AXs 22X 14,400,000 14,400
isteols X2 (=oxgdH 89) 2,000 0 2,000
307 glz2tol & 2,000 0 2,000
02 IZtE M AHEE 2,000 0 2,000
OAMRXSE HSAXN2HH ASEX(EEE W)
2,000,000& 2,000
isteols X (=wa 2%9) 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
02 It M AHE X 10,000 0 10,000
OARXSE Lolmal ArS X 10,000,000 10,000
dredLofs N (oua 2Y) 2,000 0 2,000
307 glz2+ol & 2,000 0 2,000
02 YAFHAANGFEX 2,000 0 2,000
O=2¢ olua AHXE 2,000,000 2,000
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
JlsuLoms XA (Lolws 29) 2,000 0 2,000

307 glz2tol & 2,000 0 2,000
02 It M AHE X 2,000 0 2,000
OJl= Lolua AMHXA 2,000,000& 2,000
SUlLEHUs NA(Lws 29) 2,000 0 2,000
307 21201 A 2,000 0 2,000
02 QB HUANFEE 2,000 0 2,000
O4HI2ZE4d Lolwa AFHXI& 2,000,000 2,000
SHIZUE N (=na 2%9) 2,000 0 2,000
307 21201 A 2,000 0 2,000
02 QB AAHE X 2,000 0 2,000
Os&832 A ASXEH 2,000,000& 2,000
SZLolE KB (=Qwa 2¢) 2,000 0 2,000
307 gl2tol & 2,000 0 2,000

22X 2,000 0 2,000

2,000,000 2,000
Hetd3s sSFHEUSAT RN (A BEHE) 1,000 0 1,000
307 glztol & 1,000 0 1,000
02 UAHFLYAEEE 1,000 0 1,000
OAEo BHEHIE AL XA 1,000,000& 1,000
FZ2EXE 768,566 771,324 N2,758
= 50,442
& 105,014
Al 613,110
d2AY FE34A 214,200 214,200 0
< 21,420
Al 192,780
307 21201 & 214,200 214,200 0
< 21,420
Al 192,780
A S XA E X 214,200 214,200 0
OZzzag fas4 214,200,000 214,200
= 21,420
Al 192,780
B2 AGF AR Q2] 42,000 50,400 A 8,400
< 1,680
Al 40,320
307 21201 A 42,000 50,400 A 8,400
S 1,680
Al 40,320
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< 3,379
Al 1,448
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Al 14,030
307 21201 A 23,383 19,974 3,409
< 9,353
Al 14,030
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< 9,353
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O3 Mg &2 100,000 *8H x53] 4,000
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1,000, 000& 1,000
202 4 Hl 1,760 1,600 160
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O338 oeold oAdd X 13,238,000 13,238
= 5,295
Al 7,943
F2 ZUHEH 29 & 8,722 7,786 936
= 4,361
< 2,180
Al 2,181
301 et a s 8,722 0 8,722
= 4,361
< 2,180
Al 2,181
11IIEtEA S 8,722 0 8,722
ORZI2UHEH2I XA 8,722,000& 8,722
= 4,361
= 2,180
Al 2,181
Helold =AH Msisal X 8,000 6,400 1,600
307 21201 A 8,000 6,400 1,600
11T AL SRAEE = 8,000 6,400 1,600
OO0y =H Msts XN (4H2)
8,000,000 8,000
ERUAM As2Y JEgHA X 3,000 3,000 0
307 21201 A 3,000 3,000 0
11T MISXASEEX 3,000 3,000 0

_43_




AN ALEI =X

HH: 98 o HE=NEE
el OfRIOIE KW U B2 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ESWAF A52Y JIE>A 3,000,000 3,000
EFUA F3ASE 7,000 5,000 2,000
307 21201 A 7,000 5,000 2,000
11T MISRASEEX 7,000 5,000 2,000
OBSWUAN A3S 7,000,000 7,000
Helolgdegs NA(TGRHEEA ZHE <218 ool 5,000 0 5,000
ZIIHEl)
307 glz2+0l & 5,000 0 5,000
11T MISXASEX 5,000 0 5,000
OUXEHELEHE RS HE0ZIIHz
5,000,000& 5,000
ESUA AU XA 2,000 0 2,000
307 glz2tol & 2,000 0 2,000
11T MISXASEEX 2,000 0 2,000
OBSwAL A3 2,000,000& 2,000
Helold gH2acEZZONE SANES N 14,000 0 14,000
307 21201 A 14,000 0 14,000
11T MISRASEX 14,000 0 14,000
O0gold sld&el22 08 |RAEH
100, 0003 » 1400 2~ 14,000
Heold MIIHNMBH =35 XS 7,700 0 7,700
307 glz2tol & 7,700 0 7,700
11T MISXASEX 7,700 0 7,700
OORIOIE ®IINHEZ 442
55,0003 * 14000 2 7,700
M0l SALA HRHA 2,220,022 1,954,333 265,689
= 392,217
= 786,417
Al 1,041,388
Helold AL Exs 3,665 8,435 A4, 770
= 2,199
= 1,026
Al 440
307 glz2tol & 3,665 8,435 A4, 770
= 2,199
< 1,026
Al 440
10 ALl SXAIEEE2EH EX 3,665 0 3,665
Oelold W E2u0= 3,665,000 3,665
= 2,199
= 1,026
Al 440
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OI2H02I0IE BESUAMMRIMAY (ZH]) 975,062 1,078,750 A 103,688
< 390,025
Al 585,037
301 et d s 975,062 1,078,750 A 103,688
< 390,025
Al 585,037
01 MEIBEZE 05z 975,062 1,078,750 A 103,688
ORAESANEESWA MRS
975,062,000& 975,062
< 390,025
Al 585,037
E2XNJANESAMI HRIM&HI 156,720 146,400 10,320
< 62,688
Al 94,032
301 et d = 156,720 146,400 10,320
< 62,688
Al 94,032
01 MEI2EZE 405z 156,720 146,400 10,320
OFRXNJAEAX XM LHI 156,720,000 156,720
= 62,688
Al 94,032
ZOHOtE OB E 2R 126,025 116,400 9,625
< 50,410
Al 75,615
301 et a = 126,025 116,400 9,625
< 50,410
Al 75,615
01 MEIBEE 263 126,025 116,400 9,625
OZOHOH HOtBt WAL Ex222Y
126,025,000 126,025
< 50,410
Al 75,615
ESWNIA B2 108,000 0 108,000
301 et a = 108,000 0 108,000
01 MEIBEE 2053 108,000 0 108,000
OE=suxd FJ25XH
50,0003 x180H x12& 108,000
WA 28 &3 sl 650,030 604,348 45,682
= 390,018
< 182,008
Al 78,004
301 et a = 650,030 604,348 45,682
= 390,018
< 182,008
Al 78,004
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AN ALEI =X

g 2] & ogd=1sd
S 20lE SAL ™ML (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 MEIBEE 263 650,030 604,348 45,682
OuAL 223l 650,030,000 650,030
= 390,018
= 182,008
Al 78,004
02101 BAF HeM&H =0 N 200,520 0 200,520
= 100,260
Al 100,260
301 LprE A 200,520 0 200,520
= 100,260
Al 100,260
01 Ml28E+06l= 200,520 0 200,520
OUEO0IH WAL HRMLH =+ XI&
200,520,000 200,520
= 100,260
Al 100,260
S>0gold XA 257,327 199,671 57,656
= 1,566
< 102,618
Al 153,143
NZZHHESHEFAIE2YG (S H]) 77,730 72,000 5,730
< 31,092
Al 46,638
307 21201 A 77,730 72,000 5,730
= 31,092
Al 46,638
10 ALSISXAIEEE2GHEX 77,730 0 77,730
OAHATTE BESAE XA 77,730,000 77,730
< 31,092
Al 46,638
IIEEKUMEE 22 (=Hl) 12,080 27,000 214,920
< 4,832
Al 7,248
301 gEtE L= 12,080 27,000 A 14,920
= 4,832
Al 7,248
01 MEI2EZE +5l= 12,080 27,000 A 14,920
OJIEESUMHME 22 12,080, 000& 12,080
< 4,832
Al 7,248
OMIOF M2 AE 2Z(ZHl) 152,907 85,667 67,240
< 61,163
Al 91,744
307 glz2+ol & 152,907 85,667 67,240
< 61,163
Al 91,744
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=X
al

=

o

=

sEX&d
V]

=

Jn =
1> 0 tor
oK

u
A 0x

F
it

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

10 MM SXNANEEE2SHES

OO0MIOF HEAE 23

152,907 ,000&

H

Al

152,907
162,907

61,163
91,744

H

Al

12,000

4,800
7,200

12,000

307 glztol &

Al

12,000

4,800
7,200

12,000

10 ALl SXAIEEE2EHEX
(¢]

OZOHor Y OlelolE AAHIX&

12,000,000&

= N

12,000

12,000

4,800
7,200

12,000

O
<
Hh
paa
1
IS
re
2
o
(=)
ikal
Pl
{0

= HmnH

2,610
1,566
731
313

3,004

A 394

307 glztol &

=z N W

2,610
1,566
731
313

3,004

A 394

10 A SANAIEHES2SHEX

OsoHEaM Haoeold X

o

2,610,000&

[und

= M W

2,610
2,610

1,566
731
313

2,610

o
(=)
1pal
N
or
HT
oy
He

D) ol

= M W

101,700

15,000
36,180
50,520

32,000

69,700

= W

30,000
15,000
7,500
7,500

32,000

A2,000

o
N

r
i

402 X201 ™

= W

30,000
15,000
7,500
7,500

32,000

A2,000

01 ¢l

v
!
rt
>
12
H
P

O
=}
o
=}
]
o
0
=
x

30,000,000

=z N H

30,000

30,000
15,000
7,500
7,500

32,000

2,000

Olglold CCTve Xl XI&

11,700
4,680

11,700
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SN ALSI S X
B 88 U 04=NEN
el oelold JIsEd & #Fid EERE=E))
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 7,020
402 RIZEX201 ™ 11,700 0 11,700
< 4,680
Al 7,020
01 SIZtt=2 AL B X 11,700 0 11,700
ON&ol&d CCTVE Xl XI& 11,700,000 11,700
< 4,680
Al 7,020
JHE, 22 elold WE=X& 60,000 0 60,000
= 24,000
Al 36,000
402 RI2HX20| ™ 60,000 0 60,000
= 24,000
Al 36,000
01 St t= AP E X 60,000 0 60,000
OJE . QI2tHE0ld HE=> X3
60,000, 000& 60,000
< 24,000
Al 36,000
FaEBEs ¥ 54 989,646 2,022,134 A 1,032,488
= 89,650
Xl 400,000
J| 32,068
< 21,588
Al 446,340
FAHEs 2 ME 291,680 120,450 171,230
= 46,900
J| 2,000
= 1,750
Al 241,030
a4 SEM=H XA 17,500 17,500 0
< 1,750
Al 15,750
307 21201 A 17,500 17,500 0
< 1,750
Al 15,750
11T M3 SXAISEEX 17,500 17,500 0
OFALEHEEWEHM XA 17,500, 000& 17,500
< 1,750
Al 15,750
HEAURSIHME XA 23,810 21,950 1,860
201 £B-2dH| 14,050 13,150 900
01 At 22l 10,050 9,950 100
OAt2ISXdM2E EES & M ME 1,500
-ZO0lA AL R EX 500,000 500
—HXE EEAMOIA CMEH 500,000& 500
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SN ALSI S X
M HAUES W R4
&?: FAE25 & HE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
~EEE ¥ MANE(HSD, AGIHE S)
500,000 500
Oddolyg =5ttt &5 3,500& *1,3004 4,550
OFsUSBAY MO AS S
100,000& «8H 23] 1,600
OSSEAN SCYHAEY 32T
100,000& 6 600
OFEgaEAEL LI 150,000& =124 1,800
02 =224l 4,000 3,200 800
oZ=Extg Xl (20h) 4,000, 000& 4,000
202 (44l 1,760 1,600 160
01 S LHOIYI 1,760 1,600 160
OBAESAN L NTSHE S =3
1,760,000 1,760
203 YR =2l 8,000 7,200 800
03 Al =AY R =& 8,000 7,200 800
OAMEISXIo AI#=AHR=AHl 8,000,000 8,000
dad sotel X 5,000 12,000 A7,000
J| 2,000
Al 3,000
307 gl2tol & 5,000 12,000 A7,000
J| 2,000
Al 3,000
11 ALS S XAEE = 5,000 12,000 A7,000
OEads0tel 23X& 5,000,000 5,000
J| 2,000
Al 3,000
A RAMHAEE 100,000 0 100,000
307 glz2tol & 100,000 0 100,000
11T M SXAISE EX 100,000 0 100,000
OFAEHRAMAEE 100,000, 000& 100,000
FaE dltelne=H 50,000 50,000 0
307 21201 A 50,000 50,000 0
11T MISRASEX 50,000 50,000 0
O&FAgg el st =q 50,000,000 50,000
FAE S0tel YES 7,000 0 7,000
307 21201 A 7,000 0 7,000
11T AR SXAIEE =X 7,000 0 7,000
O&FAE Sotel ¢HS 7,000,000& 7,000
FAaE AZHE 23 14,000 14,000 0
307 gl2tol & 14,000 14,000 0
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SN ALSI S X
N HAEES Y BA
Sl HAESE U MY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T MISAASEX 14,000 14,000 0
OFAad dZHE «&a 14,000, 000& 14,000
I=sudEs NA(FaEosHAEY) 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 QIZFHALAIR B = 5,000 0 5,000
OHALGUHSHAEYE AKX 5,000,000 5,000
SFHFEHSIAA XA (LELAEINE L AEES0t 2,370 0 2,370
s =8 fAZAY)
307 21201 A 2,370 0 2,370
11T MISAASEX 2,370 0 2,370
OaxdAUINE H ANMEES0tS ZFAMSASA
,370,000& 2,370
stn 8 #ad X2 67,000 0 67,000
= 46,900
Al 20,100
307 eI+l & 67,000 0 67,000
= 46,900
Al 20,100
11T MISRASEX 67,000 0 67,000
Osgtw & 4@ X& 67,000, 000& 67,000
= 46,900
Al 20,100
HFAEXE 2 ES 697,966 1,901,684 A 1,203,718
= 42,750
Xl 400,000
J| 30,068
< 19,838
Al 205,310
HAAZ2U2IE XA (ZH]) 30,000 30,000 0
= 12,000
Al 18,000
301 et A3 16,800 16,800 0
< 6,720
Al 10,080
MIEE243 16,800 16,800 0
OFL2EZRY2IXNE (XdASH)
8,400,000& 8,400
< 3,360
Al 5,040
OZLHFAHSREL2ENE 8,400,000& 8,400
< 3,360
Al 5,040
307 glz2tol & 13,200 13,200 0
< 5,280
Al 7,920
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AN ALEI =X

N HAEES Y BA
ool HAEXNE & BS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
11T MISAASEX 13,200 13,200 0
OFALAEHZRU2IRE (MH1S)
13,200,000& 13,200
= 5,280
Al 7,920
ANZELAGXNJAEH 29 100,000 80,000 20,000
307 glz2tol & 100,000 80,000 20,000
10 ALSISXAIEEE 22X 90,000 0 90,000
OANZEad XNJAHH 2gH X
90,000, 000& 90,000
11T MIZSXASEEX 10,000 80,000 AT70,000
OANZEA~E NJAdEH AHHl K&
10,000, 000& 10,000
ol RHEF XE 5,220 3,720 1,500
201 £B-2d| 3,220 1,720 1,500
01 At 22l 3,220 1,720 1,500
OFAERNSZE & E5MY 8L
1,000, 000& 1,000
OFAEUE 32 720,000 720
OHALAERHSIZAE HM=Hl 50,0003 *30E 1,500
301 LprB A 2,000 2,000 0
1MIIEBESS 2,000 2,000 0
OFAURHEZ LD Z&F 500,000 500
O3 2 AL &3l 5,000& «30H «102 1,500
Eadsga Ay 400,000 1,653,000 A 1,253,000
Xl 400,000
401 AIEHI L 20HYI 400,000 1,653,000 A 1,253,000
Xl 400,000
01 A& tl 400,000 1,653,000 A 1,253,000
OGS A AL 400,000,000& 400,000
Xl 400,000
ANZ IAURARE 2SR 2,800 2,800 0
J| 1,400
Al 1,400
307 gl2tol & 2,800 2,800 0
J| 1,400
Al 1,400
11T M SXASE EX 2,800 2,800 0
O XHMUs&s 29 XA 2,800,000 2,800
J| 1,400
Al 1,400
HAESHESZ(HLAEHNCRARIE) 1,388 1,388 0
< 694




AN ALEI =X

N HAEES Y BA
Chelr HAUWXE U B35 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 694
301 et A= 1,388 1,388 0
& 694
Al 694
02 ¥st=4 st = 1,388 1,388 0
OFAY SHAWSNB(HLENEAAL K1)
1,388,000 1,388
= 694
Al 694
HAUEUSIANSIZ (B AEHRHEZ2ZAIEXH) 1,388 2,776 N 1,388
& 694
Al 694
301 ety A= 1,388 2,776 N 1,388
< 694
Al 694
02 &st=dsi=2 1,388 2,776 A 1,388
OHAW SAFSAS(HLERNSZ LA X
) 1,388,000 1,388
& 694
Al 694
KA A HSS XM H(CYS—net) X & 85,500 80,000 5,500
= 42,750
Al 42,750
307 2iz2to| A 85,500 80,000 5,500
2 42,750
Al 42,750
11T AISIEXAIEEX 85,500 80,000 5,500
OANZEHAEXHE (K2R 85,500,000 85,500
= 42,750
Al 42,750
HAUSEII T2 29X 71,670 48,000 23,670
J| 28,668
< 6,450
Al 36,552
307 QI2t0| & 71,670 48,000 23,670
J| 28,668
= 6,450
Al 36,552
11 A EXAIEE X 71,670 48,000 23,670
OBAWSHN T2y 2914
71,670,000 71,670
J| 28,668
o= 6,450
Al 36,552
Al S A2 394,596 341,580 53,016
= 182,798
Al 211,798
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SN ALSI S X
M AESMBL
chelr AESIM AR CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AZM AR 394,596 341,580 53,016
= 182,798
Al 211,798
Al SZotE 2te| 14,000 21,800 AT7,800
201 Zet24] 4,000 4,000 0
01 At 22l 4,000 4,000 0
OAZS o AR S22 HE
4,000,000 4,000
202 O4dl 2,000 1,600 400
01 = LH 4 Hi 2,000 1,600 400
MNE U ZEAMAL 2Y Foins
2,000,000 2,000
206 M= Hl 2,400 2,400 0
01 M= 4l 2,400 2,400 0
O=QCaHIAS =21 ZAHl  200,000& =122 2,400
301 et d = 5,600 5,800 A 200
MIIEEd= 5,600 5,800 A 200
ORHAL, 2224 MEISHS ¥ EF
200,000 *2304 2 4,600
Ol =S A 23H|
40,000 x5 52 1,000
Helola St ESs 2 dgaed s 1,000 1,000 0
= 500
Al 500
301 et d s 1,000 1,000 0
= 500
Al 500
NJIEEd=s 1,000 1,000 0
ONE ol Alds obd2te 1,000,000 1,000
=2 500
Al 500
SAIZaHel 24s8HAY 5,000 8,000 A 3,000
201 Let2d] 5,000 8,000 A 3,000
02 2324l 5,000 4,000 1,000
Oodze & £ RAES 5,000,000 5,000
sE2d ¥zl 4,596 6,780 22,184
= 2,298
Al 2,298
201 Let24dH] 1,796 3,980 A2,184
= 898
Al 898
02 =24l 1,796 1,480 316
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A AMIEX
B MBS ML
Sl AESN AT (sl &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
O3 1,796,000& 1,796
= 898
Al 898
202 044l 1,658 0 1,658
= 829
Al 829
01 2L I 1,658 0 1,658
OQOAIZOEAILD Ol Et==A 1,658,000 1,658
= 829
Al 829
206 M = H| 342 2,000 N 1,658
= 171
Al 171
01 X2 H| 342 2,000 AN 1,658
OAIZUHEANDNY SSHS =HZ AHI
342,000 342
= 171
Al 171
301 LEtE A= 800 800 0]
= 400
Al 400
11 JIEtE A= 800 800 0
OAMUOZAIY &= 800,000& 800
= 400
Al 400
oelo] a2 XNy 29 360,000 270,000 90,000
= 180,000
Al 180,000
307 QI2t0| & 360,000 270,000 90,000
= 180,000
Al 180,000
05 QIZtREZ 360,000 270,000 90,000
O0glo a2 XNedy 29
360,000,000 360,000
= 180,000
Al 180,000
AMEJfHAZA OlsSH22A X 10,000 8,000 2,000
307 QI2t0| ™ 10,000 8,000 2,000
04 CIZ2tSHALALS B X 10,000 8,000 2,000
OMMENHRY OIEA2ZY X2
10,000,000 10,000
HEMSHAY (A 2R ) 75,460 69,790 5,670
JlE2A3Hl (AFSI 2 X H) 75,460 69,790 5,670
Jl=2AH| (At3I 2 X 1) 75,460 69,790 5,670
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©OAEI = X
D @AY Z U (ASI =X D)
1238 (AMES A D)

SN ZH-S(SA) - HRAY

ESS

201 fEt2E | 17,500 16,510
01 AFR 22l 17,000 16,010
ORAN2EAF 22t 17,000,000& 17,000
02 3324l 500 500
ORERI(SIILEEs 8) 500,000 500
202 04l 53,760 49,920
01 SLHOYI 53,760 49,920
OJl=ge=80idl (28%Y) 53,760,000 53,760
203 ¥R =&l 4,200 3,360
04 FAN2SERFAH| 4,200 3,360
ORMSIY2F2dI(302!015t)
350,000& »12& 4,200
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